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TERM 2 END-TERM EXAM 2011
BIOLOGY FORM 3

SECTION A		(40 MKS)

1. Define the following branches of biology.				  	        (2 mks)

a) Ecology

............................................................................................................................................................................................................................................................................................................
b) Anatomy

............................................................................................................................................................................................................................................................................................................
2. a) When are two organisms considered to belong to the same species?		             (1 mk)	

............................................................................................................................................................................................................................................................................................................
3. The diagram below represent a cell










a) Name the parts labeled X and Y.						         (2 mks)

X _________________________________________________________

Y ________________________________________________________

b) Of what importance to the cell is the thickened part labeled P.			(1 mk)

............................................................................................................................................................................................................................................................................................................
4. The diagrams below illustrate the behavior of red blood cells when placed into two different solutions Z and Y.









a) Suggest the nature of solution X and Y.					          (2 mks)

X...................................................................................................................................................Y...................................................................................................................................................
b) Name the process represented by each of the letters A and B.			          (2 mks)

A...................................................................................................................................................B...................................................................................................................................................
c) Name the process in the human body which prevent process A and B from taking place.													(1 mk)
......................................................................................................................................................
5. The diagram below represents the external structure of mammalian tooth.		










a) Labe the part J and X.								          (2 mks)

J _______________________________________________________________________

X ______________________________________________________________________

b) With a reason identify the type of tooth shown.					(1 mk)

............................................................................................................................................................................................................................................................................................................
6. The figure below shows part of a female reproductive structure of a plant.










Label the marked parts								          (3 mks)

A ____________________________________________________________________

B ____________________________________________________________________

C ____________________________________________________________________

7. a) State the function of cristae in mitochondria.						(1 mk)

............................................................................................................................................................................................................................................................................................................
b) State three functions of blood other than transport.				           (3 mks)

............................................................................................................................................................................................................................................................................................................
............................................................................................................................................................................................................................................................................................................
8. The sketch below show population growth rate of a certain organism.		













List down four factors that could have caused limited growth at Q.

............................................................................................................................................................................................................................................................................................................
............................................................................................................................................................................................................................................................................................................
............................................................................................................................................................................................................................................................................................................
............................................................................................................................................................................................................................................................................................................
9. The figure below show a half a jaw of an animal.














i) State the number of teeth found in the lower jaw.					(1 mk)

......................................................................................................................................................
ii) State the mode of feeding.								(1 mk)

......................................................................................................................................................
iii) Give reason for number (ii) above.							(1 mk)

............................................................................................................................................................................................................................................................................................................
iv) State the function of enamel in mammalian tooth.					(1 mk)
............................................................................................................................................................................................................................................................................................................

10. The diagram below shows stages in mitotic cell division.















i) Name the stages A & B								         (2 mks)

A ________________________________________________________

B _______________________________________________________

ii) State two significance of mitosis in living organisms.			   	         (2 mks)

............................................................................................................................................................................................................................................................................................................
............................................................................................................................................................................................................................................................................................................
11. In what two ways in self-pollination not possible in some plants.		          (2 mks)

............................................................................................................................................................................................................................................................................................................
............................................................................................................................................................................................................................................................................................................
12. Name three processes that maintain water movement from roots to leaves in plants.    (3 mks)

............................................................................................................................................................................................................................................................................................................
............................................................................................................................................................................................................................................................................................................
13. Study the food web below representing certain ecosystem and answer the questions that follow.

Locust
	
	Grass						Guinea fowl
				
				Caterpillars

								Vulture
				Antelopes		

					     Lion

     a) Distinguish between a food chain and a food web.					(1 mk)
............................................................................................................................................................................................................................................................................................................ ............................................................................................................................................................................................................................................................................................................
b) With reason Name the organism that would have the largest biomass.		(1 mk)
Organism _____________________________________________
Reason ____________________________________________________________________
	      _____________________________________________________________________
c) Write down a food chain in which vultures are tertiary consumed.			(1 mk)
............................................................................................................................................................................................................................................................................................................
............................................................................................................................................................................................................................................................................................................
d) What would be the effect of introducing gazelles into the ecosystem?		(1 mk)
............................................................................................................................................................................................................................................................................................................
e) State the trophic level occupied by the lion in the food web.				(1 mk)
......................................................................................................................................................
f) What would be the role of bacteria in this ecosystem?					(1 mk)
............................................................................................................................................................................................................................................................................................................
SECTION B	(40 MKS)

ANSWER QUESTION 14 (COMPULSORY) AND EITHER QUESTION 15 OR 16 IN THE SPACE PROVIDED

14. In Glucose level in mg per 100ml of blood of two people A and B, who had been fasting for 12 hrs was determined. The people were then fed on equal amount of glucose and the level of glucose determined at 30 minutes intervals for two hours. The results are shown below.

	Time in minutes 
	

	0
	30
	60
	90
	120

	Blood glucose in mg/100ml of blood
	A
	157
	184
	194
	187
	180

	
	B
	90
	118
	125
	108
	84



a) Using suitable scale draw a graph of blood glucose (mg/100ml) of blood against time in minutes.										           (8 mks)





























b) Account for the level of glucose in person B;

i) During the first 30 minutes							          (2 mks)

............................................................................................................................................................................................................................................................................................................
ii) Between 60 and 120 minutes							           (4 mks)
............................................................................................................................................................................................................................................................................................................
c) Account for the glucose in person A at the end of the hours.			           (4 mks)
............................................................................................................................................................................................................................................................................................................
............................................................................................................................................................................................................................................................................................................
............................................................................................................................................................................................................................................................................................................
d) If the normal glucose level in a healthy person is between 80 and 100mg per 100ml of blood, which one of the graphs represent the data for a person who is;

i) Healthy											(1 mk)

............................................................................................................................................................................................................................................................................................................
ii) Severely diabetic									(1 mk)

............................................................................................................................................................................................................................................................................................................
15. a) With the aid of a diagram, explain double fertilization in flowering plants.	         (15 mks)










............................................................................................................................................................................................................................................................................................................
............................................................................................................................................................................................................................................................................................................
............................................................................................................................................................................................................................................................................................................
............................................................................................................................................................................................................................................................................................................
............................................................................................................................................................................................................................................................................................................
............................................................................................................................................................................................................................................................................................................
............................................................................................................................................................................................................................................................................................................
............................................................................................................................................................................................................................................................................................................
............................................................................................................................................................................................................................................................................................................
......................................................................................................................................................
......................................................................................................................................................
b) State the changes that occur in the flowering plant after fertilization.		           (5 mks)

............................................................................................................................................................................................................................................................................................................
............................................................................................................................................................................................................................................................................................................
............................................................................................................................................................................................................................................................................................................
............................................................................................................................................................................................................................................................................................................
............................................................................................................................................................................................................................................................................................................
16. Describe how mammalian skin is adapted t its functions.			         (20 mks)

............................................................................................................................................................................................................................................................................................................
............................................................................................................................................................................................................................................................................................................
............................................................................................................................................................................................................................................................................................................
............................................................................................................................................................................................................................................................................................................
............................................................................................................................................................................................................................................................................................................
............................................................................................................................................................................................................................................................................................................
............................................................................................................................................................................................................................................................................................................
............................................................................................................................................................................................................................................................................................................
............................................................................................................................................................................................................................................................................................................
............................................................................................................................................................................................................................................................................................................
............................................................................................................................................................................................................................................................................................................
............................................................................................................................................................................................................................................................................................................
............................................................................................................................................................................................................................................................................................................
............................................................................................................................................................................................................................................................................................................
............................................................................................................................................................................................................................................................................................................
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